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Explain the role of these groups of organism in the cycling of materials and the transfer of energy in an ecosystem. In your answer, be sure to:

· Explain how organism in group A make chemical energy [1]
· Explain how organism in group B obtain energy [1]
· Explain the role of organisms in group C in the ecosystem [1]
· Identify the process used by all three groups of organisms to make energy available to their cells to carry out life functions [1]
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DO NOW:
What is a producer?
What is a heterotroph?
What is the role of a decomposer?
What is an herbivore?
What is an organism called that eats other animals? (meat)





Ecosystem- The interaction of ______________________ and ______________________ factors in a certain area.

1.1C- In all environments, organisms _____________________ for ____________________ resources. The linked and changing interactions of populations and the environment compose the total ecosystem.

· The energy for life comes from the _________. 
· _________________________________________ provides a vital connection between the sun and the energy needs of living things. 
· It is the sun that power the _________________________________________.
· Plants capture _____________________________ during the process of photosynthesis
· Producers convert ________________________________ energy into ____________________________________ energy.
· Chemical energy can be used by living things to make _____________ and power all life functions.
Energy Flow:
· Energy flows through an ecosystem in __________________________________.
· Energy always starts with the  _____________.

Typical energy flow in an ecosystem…..

________ ___________________  __________________________________________________________________________________

· Decomposers are _______________________________ that break down dead organic material, and ______________________ nutrients back into the soil.
· Examples of decomposers are _________________________________________.

[image: http://www.conservancy.co.uk/learn/images/living_foodchains1.jpg]Food Chains:
· Food chains help us represent some of the relationships between species
· More specifically, food chains allow us to the see the ______________________________________ among organisms.
· ENERGY FLOWS IN ____________________________________.

[image: http://www.coolantarctica.com/Antarctica%20fact%20file/wildlife/whales/foodweb.gif]
Food Webs:
· In an ecosystem, organisms are involved in ______________________________________________ food chains. 
· A ______________________ shows the feeding relationships between all species in an ecosystem
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A food chain is represented below:
grass — rabbit — hawk

Structures within the rabbit are formed using

(1) solar energy from the grass

(2) heat energy lost to the environment
(3) chemical energy from the hawk

(4) chemical energy from the grass

Which process will result in a gain of energy in

an ecosystem?

(1) photosynthesis in algae cells
(2) digestion in hummingbirds

(3) ATP synthesis in fungi

(4) respiration in maple tree cells

Which row in the chart below
decomposers?

best describes

Method of Nutrition

Recycles

(1) [ autotrophic

nutrients

heterotrophic

nutrients

‘autotrophic
heterotrophic

energy
energy

B [ e e—— - ) |

€ > C & [ wwwnysedregents.org/livingenvironment/813/lenv82013-exam.pdf &% @

Apps @ Suggested Sites (] DOELinks (] Imported From I (] Imported From IE (1)

individuals with hereditary ataxia. [1]

Base your answer to question 65-6 on the diagram below and on your knowledge of biology: The diagram
represenis three groups of organisms that are part of an ecosystem.

Groups of Organisms
Animals Fungi

65-68 Explain the role of these groups of organisms in the cycling of materials and the transfer of energy in
anee(myste‘m,lnymlr!nswe‘r.:esmim
« explain why an ecosystem requires a constant input of energy [1]
« explain how organisms in group B obtain energy [1] 1
« explain the role of organisms in group C in the ecosystem (1]
« identify the process used by all three groups of organisms to make energy available to their cells to
canry out lfe functions [1
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(1) photosynthesis in algae cell
(2) digestion in hummingbirds
(3) ATP synthesis in fungi

s

(4) respiration in maple tree cells

Which row in the chart below best describes

decomposers?
Row | Method of Nutrition | Recycles
(1) _| autotrophic nutrients.
(2) | heterotrophic nutrients
(3) | autotophic energy
(4) | heterotrophic energy
Groups of Organisms
‘Animals Fur
&
i)
B c
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E (3) chemical energy trom the hawk ’
(4) chemical energy from the grass
] Which process will result in a gain of energy in
an ecosystem?

65-68 Explain the role of these groups of organisms in the cycling of materials and the transfer of energy in
an ecosystem. In your answer, be sure to:

« explain why an ecosystem requires a constant input of energy [1]

« explain how organisms in group B obtain energy [1]

« explain the role of organisms in group C in the ecosystem (1]

« identify the process used by all three groups of organisms to make energy available to their cells to
canry out lfe functions [1

69-72 Discuss the process used by scientists to insert a gene from one organism into the DNA of another.
In your answer, be sure to:

« identify the scientific technique used to insert a gene from one organism into another [1]

« describe the function of a gene [1]
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31 Testosterone directly affects the

(1) formation of a zygote
(2) changes within an ovary

(3) production of sperm cells
() dexelopmen of a placenta

Base your answers to questions 32 through 34 on
the diagrim below and on your knowledge of biology:
‘The diagram represents a food web in an ecosystem.

Clover

32 If the population of hawks in this area increases,
their prey populations might decrease. Later,
with fewer prey. the hawk population might
decrease. The prey. populations. might then
increase. This is an éxample of
(1) an ecosystem thatis completely out of balance
(2) how ecosystems maintain stability over time.
(3) interaction between biotic and abiotic factors

within an tem

(4) ecological succession in an ecosystem
33 Missing from the diagram of this ecosystem are
the

(1) biotic factors and decomposers
(2) abiotic factors and decomposers

(3) autotrophs, onl;
(9 heterotrophs, only
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Answer all questions in this part.

Directions (31-43): For each statement or question, record on the separate answer sheet the number of the
word or expression that, of those given, best completes the statement or answers the question.

a7 @
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34 Which row in the chart below best identifies the
relationship between the mice and the wheat?
Row
[U]
@
@®
@

Role of Mice
producer
predator
host

Role of Wheat
consumer

host
predator !
producer

35 The diagram below represents a sequence of
events that occurs in living things.

X

T
are digested into

Smaller molecules

T -
/\

Fat Starch ] [Protein

Letter X represents

(1) inorganic molecules (3) biological catalysts
(2) organic molecules  (4) simple sugars

36 In the cells of the human body, oxygen molecules
are used directly in a process that
(1) releases energy
(2) digests fats
(3) synthesizes carbohydrate molecules
(4) alters the genetic traits of the cell
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of these poisonous mostikely benefits
oleanders by preventing leaf loss caused by

(1) lack of rain (3) mineral absorption
(2) scavengers (4) herbivores

18 Sugar maples and white pines are two different
tree species that often grow side by side in
the Adirondack Mountains. Which statement
concerning these trees is correct?

(1) Since they are both trees, they can interbreed.

(2) Since they are not closely related, they do
not compete with one another.

(3) Even though they are both trees, each plays
a different role in the ecosystem.

(4) They utilize totall different abiotic resources.

C | [) wwwanysedregents.org/livingenvironment/114/lenv12014-examw.pdf
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(1) asites

@ mmphw s

(3) bacteria and fungi

(4) scavengers and viruses

22 In 2003, the city of Rochester, New York,
killing weeds with steam. A machine heats water
t0 280°F then sprays it on the weeds with
pressure. The extreme heat destroys the celar
structure of the plants. What is a possible
disadvantage of this method of weed control?

(1) 1t can be used safely in areas where children
@ ﬁh,y‘;d..m the number of mutations in the

() T detroys s without chemicas
"3'2 beneficial i

(4) Italters the habitats of some. insects.

23 A food chain is represented below.
grass — rabbit — hawk

Structures within the rabbit are formed using
(1) solar energy from the grass

(2) heat energy lost to the environment

(3) chemical energy from the hawk

(4) chemical energy from the grass

24 The graduating class of a high school would like
togive the school a gift that would have a positive
e o it Pl would
be the best choice?

(1) making wooden bmhe« by harvesting trees
from school p

(2) planting athe tees a]x:mg the border of the
school

® mlmdult)nngl a new population of foxes, the
school mascot, to school grounds

(4) clearing an area to make room for additional
student parking

27 One possible explanation for the fact that some
simple, one-celled organisms did not evolve into
complex, multicellular organisms is that
@) energy flowinan ecosstem reqiessimple
autotrophic organis

(2) the reprodctive rateofsingl-ccled organsms
s too fast for change to occur

(3) these organisms possessed taits that enabled
them to survive in a changing environment

(@) stabilty within an m requires the
presence of a varety of diflerent species

28 In New York State, cars are inspected to be sure
they are not releasing excessive amounts of
several gases into the atmosphere. This is done
in an effort to

(1) recycle more nutrients
{2) recnce biodierity
(3) reduce global warming

(4) increase the growth rates of forests

29 Damage to the
States is likely to
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23 A food chain is represented below.
grass — rabbit — hawk

Structures within the rabbit are formed using
(1) solar energy from the grass

(2) heat energy lost to the environment

(3) chemical energy from the hawk

(4) chemical energy from the grass
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Answer all questions in this part.  [%]

Directions (1-30): For each statement or question, record on the s

ite answer sheet the number of the

word or expression that, of those given, best completes the statement or answers the question.

1 The concentration of potassium is higher in red
blood cells than in the surrounding blood plasma.
“This higher concentration is maintained by the
process of
(1) circulation
(@) diffusion

(3) excretion
(4) active transport

2 Human

enetic material is represented in the
diagram below.

The region labeled A is made up of a section of
(1) a protein that becomes an enzyme

(2) DNA that may direct protein synthesis

(3) a carbohydrate made from amino acids

(4) glucose that may be copied to make DNA

3 Brothers and sisters often have similar facial
characteristics, such as nose shape or eye color,
because they
(1) are raised in similar environments
(2) eat similar types of foods
(3) have similar types of proteins
(4) use similar types of facial care products

4 Compared to a normal body cell, a normal egg
cell contains

(1) the same number of chromosomes

(2) half the number of chromosomes

(3) twice the number of chromosomes

(4) four times the number of chromosomes

5 The variations that exist in a population of wild
giraffesare sually a resul oF cvents that oceur
uring
(1) mitotic division
(2) genetic engineering
(3) asexual reproduction
(4) sexual reproduction

6 Evidence that best supports the theory of
biologiel evoltion was abtaimed from the
(1) investigation of environmental niches
(2) study of fossil records
(3) comparison of the number of cels in organisms
(4) analysis of food chains and food webs

7 The human immune system fights infection by
releasing
(1) ATPs
(2) antibiotics

(3) antibodies
(4) antigens

§ The function of a specific enzyme is most directly
influenced by its
(1) molecular size

@) physical shape

9 A vaccine for the viral disease known as chicken
pox would contain
(1) a large amount of live virus
(2) a dead or weakened form of the pathogen
(3) several different antibiotics
(4) a small number of white blood cells

(3) carrying capacity
(4) stored energy

10 Which process will result in a gain of energy in
an ecosystem?
(1) photosynthesis in algae cells
(2) digestion in hum ﬂﬁms
(3) ATP synthesis in fungi
(4) respiration in maple tree cells

2] m v ]
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. Answer all questions in this part. [30]
Directions (1-30): For each statement or question, record on the separate answer sheet the number of the 1
word or expression that, of those given, best completes the statement or answers the question.
B A food chain is represented below.
) 1 The organisms in a pond and the physical factors 5 The diagram below represents the region
E grass — rabbit — hawk influencing them best describe. between two nerve cells. Cell A releases a
Structures within the rabbit are formed using (1) a population (3) abiosphere chemical that travels o and binds with structure
(2) an ecosystem (4) a food chain Xon cell B.
N (1) solar energy from the grass
(2) heat energy lost to the environment ) . ~ Structure X
] (3) chemical energy from the hawk 2 Which row in the chart below best describes
(4) chemical energy from the grass decomposers?

Which process will result in a gain of energy in
an ecosystem?

(1) photosynthesis in algae cells

(2) digestion in hummingbirds

(3) ATP synthesis in fungi

(4) respiration in maple tree cells

Row

Method of Nutrition

Recycles

U]

autotrophic

nutrients

@

heterotrophic

nutrients

®)

autotrophic

energy

@

heterotrophic

energy

3 Some processes that occur in a cell are listed
below:
A utilize energy
B. detect changes in the environment
C. rearrange and synthesize chemical
compounds

Which processes will ll living organisms use to
maintain homeostasis?

() Aand B.only

(3) Cand A, only
(2) Band C,

(4) A, Band C

4 Which cell structures are correctly paired with

their functions?

(1) The mitochondria.produce enzymes, and
ribosomes transport them.

(2) The ribosomes make proteins, and the
nucleus stores genetic nbrmation.

(3) The cell membrane makes enzymes, and
cytoplasm transports them.

(4) The vacuole stores genetic information, and
chloroplasts make proteins.

Chemical

Structure X most likely represents

(1) a receptor molecule
(2) an inorganic substance
(3) a ribosome.
(4) an antibody

6 Over the pst few thousand years, bumans ave
i

helped to bring about changes in lant and
e T
useful. Examples include strong workhorses. :
hunting dogs. com, and beautiful

flower varieties. changes were primarily

brought about by humans, using the process of

(1) mitosis (3) cloning

(2) selective breeding ~ (4) natural selection

7 Certain antibacterial soaps kill 99% of the
bacteria present on hands. Constant use of these
Soaps could be harmful over time because

(1) more ns may be resistant to the soap

(5] e e e

(3) large populations of pathogens are beneficial
e

(4) the soap stimulates skin cell division




